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QUESTION 1

(single) Is the following description correct? The larger the return loss, the better. In general, the return loss of APC is
greater than that of PC type connector.

A. True
B. False

Correct Answer: A

QUESTION 2

(single) In the Solaris 10 operating system, when only ordinary users can ftp to the network management server, which
file should be modified so that the root user can also remotely ftp to the server?

A. /etc/ftpusers

B. /etc/services

C. /letc/system

D. /etc/defaultrouter

Correct Answer: A

QUESTION 3

(multiple) UA2000 alarms are based on whether they are acknowledged and cleared. What are the alarm statuses?
A. Unconfirmed not cleared

B. confirmed not cleared

C. Unconfirmed cleared

D. Confirmed cleared

Correct Answer: ABCD

QUESTION 4

(single) Which command is used to delete a board in the UA5000 chassis?
A. Undo board

B. No board

C. Board delete
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D. Board erase

Correct Answer: C

QUESTION 5

(single) Which is the correct sorting of the loss of the fiber connection point?
A. Active connection> Cold connection> Welding

B. Active connection > fusion > cold junction

C. Welding> Cold junction> Active connection

D. Cold junction>active connection>welding

Correct Answer: A
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